
SAP ABAP table T5DA2 {Supplement Percentages for Semiretirement Model}

T5DA2

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ATZMO [CHAR (4)]

ENDDA [DATS (8)]

ATZFL [CHAR (4)]

APPL [CHAR (4)]

T000

MANDT [CLNT (3)] T5DA2-MANDT = T000-MANDT 
0..N

1

T500L

MOLGA [CHAR (2)] T5DA2-MOLGA = T500L-MOLGA 0..N

1

T596A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

 T5DA2-APPL = T596A-APPL 
0..N1

T5D0F

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

FLSTE [CHAR (4)]

 T5DA2-ATZFL = T5D0F-FLSTE 

{0,1}

1

T5DA1

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ATZMO [CHAR (4)]

 T5DA2-ATZMO = T5DA1-ATZMO 

{0,1}

1


